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                                                           Prelims  

1.Economic growth in country X will necessarily have to occur if?  

a) There is technical progress in the world economy 

b) There is population growth in X 

c) There is capital formation in X 

d) The volume of trade grows in the world economy 

 

2. The national income of a country for a given period is equal to the 

a) Total value of goods and services produced by the nationals 

b)  Sum of total consumption and investment expenditure 

c)  Sum of personal income of all individuals 

d) Money value of final goods and services produced 

 

3.Which one among the following countries has the lowest GDP per capita?  

a) China 

 b) India 

c) Srilanka 

d) Indonesia 

                                                                Mains  

GS 3 

Define potential GDP and explain its What are the factors that have been 

inhibiting India from realizing its potential GDP?  

GS 4  

What does ethics seek to promote in human life? Why is it all the more important 

in public administration? 

Note from Santosh Sir: The is daily PYQ Sadhana as per our daily target. 



 

 

 

 

 


